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1. RV32 page table intro
2. (manually) walking page table
3

. OS implementation
- trapping to kernel
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Figur¢ 4.14: Supervisor address translation and protection rggst

(dbit MODE)
SXLEN=32
Value | Name | Description
0 Bare | No translation or protection.
1 Sv32 | Page-based 32-bit virtual addressing (see Section 4.3).
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2. Page table entry
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Figure 4.18: Sv32 page table ent‘ry(j ,L "/h, k L“) I/Q{”/

Ox2001840f =5 o V=1 = (J-Mosle
L oo = g ons otwoda f

3.Virtual address (VA)
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Figure 4.16: Sv32 virtual address.
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* simulate CPU: manual page walk OXO(@D/OD@P
— —

Steps: — OX%OOO [GQQ
(1) split the VA to 11/12 indexes and offest
(2) get the root of page table C@%ﬁ)}
(3) calc the L1 page
(4) calc the L2 page
(5) calc the physical address
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3. 0S implementation
rapping to kernel

“message between 2 Y (0 @(§<€S (
gfree all pages When Q%((‘é ﬁ@fé




